
 
 
 

 
 
 
 
 

26-DEC-2022  1/4 

 

© 2022 Williams-Sonoma, Inc.    CWHR 
 

Williams-Sonoma Inc. 
 

Assembly Instructions 
Instructions d’assemblage 

Instrucciones de Ensamblaje 

Pottery Barn – Pottery Barn Teen – Pottery Barn Kids – Williams Sonoma Home – West Elm – Rejuvenation – Mark and Graham 

 
 
 
 

                                
 
 

 
 
 
 
 

 
 
 
 
 
 
 
 

CRESWELL Hook Rack 
CRESWELL Crochets 

CRESWELL Estante De Gancho



 
 
 

 
 
 
 
 

26-DEC-2022  2/4 

 

© 2022 Williams-Sonoma, Inc.    CWHR 

Williams-Sonoma Inc. 
 

Assembly Instructions 
Instructions d’assemblage 

Instrucciones de Ensamblaje 

Pottery Barn – Pottery Barn Teen – Pottery Barn Kids – Williams Sonoma Home – West Elm – Rejuvenation – Mark and Graham 

CALIFORNIA PROPOSITION 65 WARNING: This product can expose you to chemicals including Lead which is known to the State of 
California to cause cancer and birth defects or other reproductive harm. For more information go to 

https://www.p65warnings.ca.gov/ 
AVERTISSEMENT RELATIF À LA PROPOSITION 65 DE LA CALIFORNIE: Ce produit contient du laiton qui contient des composants qui 
contiennent du plomb, un métal lourd connu dans l’État de la Californie pour causer le cancer, des malformations congénitales ou 

autres dommages au fœtus. Pour plus d'informations allez à https://www.p65warnings.ca.gov/ 
ADVERTENCIA PROPOSICIÓN 65 DE CALIFORNIA: Este producto contiene componentes de ferretería de bronce, que contiene 
plomo, un metal pesado que es conocido en el Estado de California por causar cáncer, defectos de nacimiento y otros daños 

reproductivos. Para obtener más información, visite https://www.p65warnings.ca.gov/ 
 
TOOLS NEEDED: Slotted screwdriver, Pencil, lever, Wood Stud Finder, Power Drill, Drill bits. 
OUTILS NÉCESSAIRES: Tournevis fendu, crayon, levier, détecteur de goujons en bois, Perceuse électrique, Forets. 
HERRAMIENTAS NECESARIAS: Destornillador ranurado, Lápiz, palanca, Buscador de pernos de madera, Taladro eléctrico,     
                         Brocas. 

 

PARTS INCLUDED / PIÈCES INCLUSES / PIEZAS INCLUIDAS:
• 1pc Hook Rack / RACK À CROCHETS / ESTANTE DE 

GANCHO 
• 4pcs SNAPTOGGLE® Anchors / Ancres / Anclajes 

• 5pcs ST6.3*38mm Slotted Head Screws / Vis à tête 
fendue / tornillos de cabeza ranurados 

• 5pcs M6*38 Slotted Head Screws / Vis à tête 
fendue / tornillos de cabeza ranurados 

              
Hook Rack/ Rack à crochets/  SNAPTOGGLE® Anchors / Ancres /  ST6.3*38 screws / Visses /  M6*38 screws / Visses / 
Estante de gancho    Anclajes       Tornillos     Tornillos  
The maximum load capacity for the Hook Rack mounted on studs is 100 LBS. 
La capacité de charge maximale du Hook Rack monté sur des goujons est de 100 lb. 
La capacidad de carga máxima para el Hook Rack montado en pernos es de 100 LBS. 
 
The maximum load capacity for the Hook Rack mounted on drywall is 80 LBS. 
La capacité de charge maximale du Hook Rack monté sur cloison sèche est de 80 lb. 
La capacidad de carga máxima para el Hook Rack montado en paneles de yeso es de 80 lbs. 
 
MOUNTING INSTRUCTIONS FOR TYPICAL DRYWALL APPLICATIONS: 
INSTRUCTIONS DE MONTAGE POUR LES APPLICATIONS TYPIQUES DE CLOISONS SÈCHES: 
INSTRUCCIONES DE MONTAJE PARA APLICACIONES TÍPICAS DE PANELES DE YESO: 

1. Use the Hook Rack itself as template to decide the anchor positions on the wall. 
  Utilisez le Hook Rack lui-même comme modèle pour décider des positions d’ancrage sur le mur. 
  Utilice el propio Hook Rack como plantilla para decidir las posiciones de anclaje en la pared. 
 
2. Use Power Drill to drill holes with bit 1/2”; slide metal channel into the pre-drilled hole.  
  Utilisez Power Drill pour percer des trous avec des ½” de forage; glissez le canal  
  métallique dans le pré-forage.  
  Utilice Power Drill para perforar agujeros con ½” de broca; deslice el paso de metal  
  en el pre-agujero 

 
 
 

3. Hold ends of Straps and pull toward you until channel rests flush behind wall. 
  Tenez l'extrémité de la sangle et tirez - la vers vous jusqu'à ce que le passage  
  soit rincé derrière le mur. 
  Sostenga el extremo de la correa y tire hacia usted hasta que el pasaje esté  

 nivelado detrás de la pared. 
 

Ø 1/8” 
Ø 1/2’’ 

 

https://www.p65warnings.ca.gov/
https://www.p65warnings.ca.gov/
https://www.p65warnings.ca.gov/


 
 
 

 
 
 
 
 

26-DEC-2022  3/4 

 

© 2022 Williams-Sonoma, Inc.    CWHR 

Williams-Sonoma Inc. 
 

Assembly Instructions 
Instructions d’assemblage 

Instrucciones de Ensamblaje 

Pottery Barn – Pottery Barn Teen – Pottery Barn Kids – Williams Sonoma Home – West Elm – Rejuvenation – Mark and Graham 

 
4. Pull back on straps and slide plastic cap along straps until flange of cap is flush  
  with wall. 
  Retirez la courroie et glissez le couvercle en plastique le long de la courroie  
  jusqu'à ce que la bride du couvercle soit rincée avec le mur. 
  Tire de la correa hacia atrás y deslice la tapa de plástico a lo largo de la correa  
  hasta que la brida de la tapa esté nivelada con la pared. 

 

 
5. Push straps side to side, snapping off straps level with wall, then discard straps. 
  Poussez la courroie d'un côté à l'autre, rincez la courroie avec le mur, puis jetez  
  la courroie. 
  Empuje la correa de un lado a otro, alinee la correa con la pared y deseche la correa. 

 

 
6. Place Hook Rack over flange. Insert ST6.3*38 bolts through Hook Rack and tighten  
  until flush against Hook Rack, then stop. 
  Placer Crochets le sur la bride. Insérer les M6.3*38 boulons dans le projet et serrer  
  jusqu'à ce qu'ils soient rincés avec le projet et s'arrêter    
  Coloque el estante de gancho sobre la brida. Inserte los M6.3*38 pernos a través  
  del bastidor de gancho y apriete hasta que enjuagar contra Hook Rack y,  
  a continuación, detenerse. 

 

 

 

 

 

 

 

 

 
MOUNTING INSTRUCTIONS FOR WOOD STUD INSTALLATION: 
INSTRUCTIONS DE MONTAGE POUR L’INSTALLATION DE POTEAUX EN BOIS: 
INSTRUCCIONES DE MONTAJE PARA LA INSTALACIÓN DE PERNOS DE MADERA: 

1. Use the Hook Rack itself as template to decide the anchor positions on the studs with assistance from a stud finder. 
  Utilisez le Hook Rack lui-même comme modèle pour décider des positions d’ancrage sur les goujons avec l’aide  
  d’un détecteur de goujons. 
  Utilice el propio Hook Rack como plantilla para decidir las posiciones de anclaje en los pernos con la ayuda de un  
  buscador de pernos. 
 
2. Use Power Drill to drill holes with bit 1/8”; insert M6*38 bolts through Hook Rack and tighten until flush against Hook Rack, 
then stop. 
  Utilisez Power Drill pour percer des trous avec des 1/8” de forage; insérez les boulons M6 * 38 à travers le support de 
crochet et serrez jusqu’à ce qu’ils affleurent contre le rack à  
  crochets, puis arrêtez. 
  Utilice Power Drill para perforar agujeros con 1/8” de broca; inserte los pernos M6 * 38 a través del bastidor de gancho y 
apriete hasta que estén al ras contra el bastidor de  
  gancho, luego deténgase. 

 
 
 
 
 
 
 
 
 
 
 



 
 
 

 
 
 
 
 

26-DEC-2022  4/4 

 

© 2022 Williams-Sonoma, Inc.    CWHR 

Williams-Sonoma Inc. 
 

Assembly Instructions 
Instructions d’assemblage 

Instrucciones de Ensamblaje 

Pottery Barn – Pottery Barn Teen – Pottery Barn Kids – Williams Sonoma Home – West Elm – Rejuvenation – Mark and Graham 

CARE INSTRUCTIONS 

1. Dust often using a clean, soft, dry and lint-free cloth. 

2. We do not recommend the use of chemical cleansers, abrasives or furniture polish on our lacquered finish. 

3. Hardware may loosen over time. Periodically check to make sure all connections are tight. Re-tighten if necessary. 

INSTRUCTIONS D'ENTRETIEN 

1.   Époussetez souvent à l'aide d'un chiffon propre, doux, sec et non pelucheux. 

2.   Nous ne recommandons pas l'utilisation de nettoyants chimiques, d'abrasifs ou d'encaustique pour meubles sur notre finition laquée. 

3.   Le matériel peut se desserrer avec le temps. Vérifiez périodiquement que toutes les connexions sont bien serrées. Resserrer si nécessaire. 

INSTRUCCIONES DE CUIDADO 

1.   Desempolve a menudo con un paño limpio, suave, seco y sin pelusa.  

2.   No recomendamos el uso de limpiadores químicos, abrasivos o cera para muebles en nuestro acabado lacado.  

3.   El hardware puede aflojarse con el tiempo. Verifique periódicamente para asegurarse de que todas las conexiones estén apretadas. 

 Vuelva a apretar si es necesario. 


